

Homomorphisms between neighboring G_1T -Verma modules

Masaharu Kaneda

In memory of Professor SHIMADA Nobuo

Let G be a reductive group over an algebraically closed field \mathbb{k} of positive characteristic p , B a Borel subgroup of G , T a maximal torus of B , G_1 (resp. B_1) the Frobenius kernel of G (resp. B), and Λ the character group of B . Let $\widehat{\nabla}$ denote the induction functor from the category of B_1T -modules to the category of G_1T -modules. We will rework Koppinen's results [Kop] on homomorphisms between neighboring Weyl modules for neighboring $\widehat{\nabla}(\lambda)$'s, $\lambda \in \Lambda$. By their infinitesimal nature, given [D, AK, J], the arguments are considerably easier than in [Kop].

As any 1-dimensional representation of a unipotent group is trivial, Λ may also be thought of as the character group of T . Thus let $R \subset \Lambda$ be the root system of G relative to T . We choose a positive system R^+ of R such that the roots of B are $-R^+$, and denote the set of simple roots by R^s . Let W be the Weyl group of G and $W_p = W \ltimes p\mathbb{Z}R$, acting on Λ via the dot action: $x \bullet \lambda = x(\lambda + \rho) - \rho$, $x \in W_p$, $\lambda \in \Lambda$, $\rho = \frac{1}{2} \sum_{\alpha \in R^+} \alpha$. Given $\lambda, \mu \in \Lambda$ we modify Koppinen's notion of a small interval between μ and λ to suit our need, and show that if the interval is small, the set of G_1T -homomorphisms from $\widehat{\nabla}(\lambda)$ to $\widehat{\nabla}(\mu)$ is nonzero.

Precisely, we define the interval $[\mu, \lambda]_r$, r for "restricted", from μ to λ to be the set $\{\nu \in \Lambda \mid \mu \uparrow\uparrow \nu \uparrow\uparrow \lambda\} \setminus \{\nu - pn\beta \mid \nu \uparrow\uparrow \lambda, \beta \in R^+, p \mid \langle \nu + \rho, \beta^\vee \rangle, n \in \mathbb{N}^+\}$ with respect to the strong linkage relation $\uparrow\uparrow$ but disallowing reflections in the hyperplanes parallel to the ones containing the weights in question. We say $[\mu, \lambda]_r$ is *small* iff it contains no consecutive weights reflected in the same directions, and show that there is a nonzero G_1T -homomorphism from $\widehat{\nabla}(\lambda)$ to $\widehat{\nabla}(\mu)$ in case $[\mu, \lambda]_r$ is small. As a corollary, assuming Lusztig's conjecture on the irreducible characters for G [L], we determine the socle level of $\widehat{\nabla}(0)$ on which the simple factor $\widehat{L}(w \bullet 0)$, $w \in W$, of highest weight $w \bullet 0$ appears. Here and elsewhere 0 in $\widehat{\nabla}(0)$ denotes 1-dimensional B_1T -module induced by $0 \in \Lambda$, not the zero module. It verifies in general an observation made in [KY] for G of rank at most 2 and is compatible with [K]. Thanks to [KT, KL, L94, AJS], or more recently, [F], the Lusztig conjecture is now a theorem for large p , and hence we also obtain positivity of the

2000 *Mathematics Subject Classification*. Primary 20G10.

Supported in part by JSPS Grant in Aid for Scientific Research 19540045.

constant terms of certain periodic inverse Kazhdan-Lusztig polynomials.

1°. Intertwining homomorphisms of G_1T -Verma modules

(1.1) We will let \mathcal{C} denote the category of G_1T -modules, and $\mathcal{C}(P, Q)$ the set of G_1T -linear homomorphisms from a G_1T -module P to another G_1T -module Q . Let us first recall from [D, AK]/[J, II.9] some basics of intertwining homomorphisms of G_1T -Verma modules.

For each $w \in W$ let $\widehat{\nabla}_w$ be the induction functor from the category of $(wBw^{-1})_1T$ -modules to \mathcal{C} . For each $\nu \in \Lambda$ put $\nu\langle w \rangle = \nu + (p - 1)(w \bullet 0)$ after [AJS, J]. The formal character of $\widehat{\nabla}_w(\nu\langle w \rangle)$ is the same as that of $\widehat{\nabla}(\nu)$. Let $\alpha \in R^s$, $s_\alpha \in W$ the reflection associated to α , $w \in W$, and write $\langle \nu + \rho, w\alpha^\vee \rangle \equiv d \pmod p$ with $d \in [0, p[= \{n \in \mathbb{Z} \mid 0 \leq n < p\}$. If $d > 0$, we have 2 exact sequences

$$(1) \quad \widehat{\nabla}_w((\nu + (p - d)w\alpha)\langle w \rangle) \rightarrow \widehat{\nabla}_w(\nu\langle w \rangle) \rightarrow \widehat{\nabla}_w((\nu - dw\alpha)\langle w \rangle) \rightarrow \widehat{\nabla}_w((\nu - pw\alpha)\langle w \rangle),$$

$$(2) \quad \widehat{\nabla}_{ws_\alpha}((\nu - dw\alpha)\langle ws_\alpha \rangle) \rightarrow \widehat{\nabla}_{ws_\alpha}(\nu\langle ws_\alpha \rangle) \rightarrow \widehat{\nabla}_w(\nu\langle w \rangle) \rightarrow \widehat{\nabla}_w((\nu - dw\alpha)\langle w \rangle)$$

while for $d = 0$

$$(3) \quad \widehat{\nabla}_w(\nu\langle w \rangle) \simeq \widehat{\nabla}_{ws_\alpha}(\nu\langle ws_\alpha \rangle).$$

Regardless of d we have

$$(4) \quad \mathcal{C}(\widehat{\nabla}_{ws_\alpha}(\nu\langle ws_\alpha \rangle), \widehat{\nabla}_w(\nu\langle w \rangle)) \simeq \mathbb{k}$$

and that if $w_0 = s_1s_2 \dots s_N$ is a reduced expression of the longest element w_0 of W with $s_i = s_{\alpha_i}$, $\alpha_i \in R^s$, and if $\phi_i \in \mathcal{C}(\widehat{\nabla}_{s_1 \dots s_{i-1}s_i}(\nu\langle s_1 \dots s_{i-1}s_i \rangle), \widehat{\nabla}_{s_1 \dots s_{i-1}}(\nu\langle s_1 \dots s_{i-1} \rangle)) \setminus 0$, then

$$(5) \quad \text{im}(\phi_1 \circ \phi_2 \circ \dots \circ \phi_N) = \widehat{L}(\nu).$$

Note also that for SL_2 , in case $d = 0$, $\widehat{\nabla}(\nu)$ is irreducible, and hence $\mathcal{C}(\widehat{\nabla}(\nu), \widehat{\nabla}(\nu - pn\alpha)) = 0 \forall n \neq 0$.

(1.2) Let us denote by $\uparrow\uparrow$ the strong linkage relation on Λ generated by the pairs $(s_{\beta, np} \bullet \lambda = s_\beta \bullet \lambda + np\beta, \lambda)$, $\beta \in R^+$, $n \in \mathbb{Z}$, such that $np \leq \langle \lambda + \rho, \beta^\vee \rangle$. We will write $\lambda \xrightarrow{\beta} \nu$ iff $p \nmid \langle \lambda + \rho, \beta^\vee \rangle$ and $\nu = s_{\beta, np} \bullet \lambda$ for some $n \in \mathbb{Z}$ such that $np < \langle \lambda + \rho, \beta^\vee \rangle$. Let $\uparrow\uparrow_r$ denote the partial order generated by these $\lambda \xrightarrow{\beta} \nu$. Thus $\uparrow\uparrow$ and $\uparrow\uparrow_r$ coincide on p -regular weights, i.e., on those λ such that $p \nmid \langle \lambda + \rho, \beta^\vee \rangle \forall \beta \in R^+$.

For a G_1T -module M we will write $[M : \widehat{L}(\nu)]$ for the multiplicity of the simple module $\widehat{L}(\nu)$ of highest weight ν in a composition series of M . If $[\widehat{\nabla}(\lambda) : \widehat{L}(\nu)] \neq 0$, one has $\nu \uparrow\uparrow \lambda$ by the strong linkage principle [D, D89], and, in fact, we have $\nu \uparrow\uparrow_r \lambda$; if $\nu < \lambda$, then by (1.1.5) and by (1.1.2) $\exists i \in [1, N]$ with $d_i > 0$:

$$0 \neq [\widehat{\nabla}_{s_1 \dots s_i}((\lambda - d_i\beta_i)\langle s_1 \dots s_i \rangle) : \widehat{L}(\nu)] = [\widehat{\nabla}(\lambda - d_i\beta_i) : \widehat{L}(\nu)],$$

where $\beta_i = s_1 \dots s_{i-1} \alpha_i$ and $\langle \lambda + \rho, \beta_i^\vee \rangle \equiv d_i \pmod p$ with $d_i \in [0, p[$.

(1.3) Let us also note that [Kop, Lemma 6.2] carries over to our setup; $\forall \lambda \in \Lambda$, $\text{soc} \widehat{\nabla}(\lambda) = \widehat{L}(\lambda)$, and $\forall \nu \in \Lambda$, $\forall i \in \mathbb{N}$, $\text{Ext}_{\mathcal{C}}^i(\widehat{\nabla}_{w_0}(\nu \langle w_0 \rangle), \widehat{\nabla}(\lambda)) \simeq \delta_{i0} \delta_{\nu \lambda} \mathbb{k}$, where $w_0 \in W$ is such that $w_0 R^+ = -R^+$.

Lemma: Let $\lambda \in \Lambda$ and let $M_1 \xrightarrow{f_1} M_2 \xrightarrow{f_2} M_3 \xrightarrow{f_3} M_4$ be an exact sequence in \mathcal{C} .

(i) If $[M_4 : \widehat{L}(\lambda)] = 0$, then $\mathcal{C}(f_2, \widehat{\nabla}(\lambda)) : \mathcal{C}(M_3, \widehat{\nabla}(\lambda)) \rightarrow \mathcal{C}(M_2, \widehat{\nabla}(\lambda))$ is injective.

(ii) If $[M_1 : \widehat{L}(\lambda)] = 0 = [M_4 : \widehat{L}(\eta)] \forall \eta \in \Lambda$ with $\lambda \uparrow_r \eta$, then $\mathcal{C}(f_2, \widehat{\nabla}(\lambda))$ is bijective.

2°. Small intervals

(2.1) For each λ and $\mu \in \Lambda$ we define an *interval* from μ to λ to be

$$[\mu, \lambda]_r = \{ \nu \in \Lambda \mid \mu \uparrow_r \nu \uparrow_r \lambda \}.$$

We say it is *small* iff it contains no sequence of form $\nu_1 \xrightarrow{\beta} \nu_2 \xrightarrow{\beta} \nu_3$, $\beta \in R^+$. Thus the sequence $\nu_1 \xrightarrow{\beta} \nu_2$ belongs to a small interval only if $\nu_2 = s_{\beta, np} \bullet \nu_1$ with $\langle \nu_1 + \rho, \beta^\vee \rangle - pn \in]0, p[= \{ n \in \mathbb{Z} \mid 0 < n < p \}$.

(2.2) Fix a reduced expression $w_0 = s_1 s_2 \dots s_N$ of the longest element w_0 of W with $s_i = s_{\alpha_i}$, $\alpha_i \in R^s$. Put $w_i = s_{i+1} \dots s_{N-1} s_N$, $i \in [0, N]$, with $w_N = e$, $z_i = s_1 s_2 \dots s_i$ with $z_0 = e$, and $\beta_{i+1} = z_i \alpha_{i+1}$. Thus $R^+ = \{ \beta_i \mid i \in [1, N] \}$. Let $[\mu, \lambda]_r$ be a small interval and put

$$I_r(\mu, \lambda) = \{ i \in [1, N] \mid \exists \beta_i \text{ and } \nu \in [\mu, \lambda]_r : \lambda \xrightarrow{\beta_i} \nu \}.$$

One checks that [Kop, Proposition 5.1] carries over to the present setup; the verification is reduced to the rank 2 cases, where one can check an analogue of [Kop, Lemma 5.2] by exhausting the cases.

Proposition: Let $[\mu, \lambda]_r$ be a small interval with $\mu < \lambda$. Let $m = \min I_r(\mu, \lambda)$ with $\lambda \xrightarrow{\beta_m} \nu \in [\mu, \lambda]_r$. If $\mu < \nu$, then $m < \min I_r(\mu, \nu)$.

(2.3) We now prove an analogue of [Kop, Theorem 6.1].

Theorem: Assume $[\mu, \lambda]_r$ is small with $\mu < \lambda$ and keep the notations of (2.2). For each $i \in [0, \min I_r(\mu, \lambda)]$

$$\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) \simeq \mathcal{C}(\widehat{\nabla}_{z_i}(\lambda \langle z_i \rangle), \widehat{\nabla}(\mu)) \neq 0.$$

Proof: For each $j \in [1, N]$ write $\langle \lambda + \rho, \beta_j^\vee \rangle \equiv d_j \pmod p$ with $d_j \in [0, p[$. If $d_j \neq 0$, we have from (1.1.1) and (1.1.2) exact sequences

$$(1) \quad \widehat{\nabla}_{z_{j-1}}(\lambda \langle z_{j-1} \rangle) \rightarrow \widehat{\nabla}_{z_{j-1}}((\lambda - d_j \beta_j) \langle z_{j-1} \rangle) \rightarrow \widehat{\nabla}_{z_{j-1}}((\lambda - p \beta_j) \langle z_{j-1} \rangle),$$

$$(2) \quad \widehat{\nabla}_{z_j}((\lambda - d_j \beta_j) \langle z_j \rangle) \rightarrow \widehat{\nabla}_{z_j}(\lambda \langle z_j \rangle) \rightarrow \widehat{\nabla}_{z_{j-1}}(\lambda \langle z_{j-1} \rangle) \rightarrow \widehat{\nabla}_{z_{j-1}}((\lambda - d_j \beta_j) \langle z_{j-1} \rangle).$$

In case $d_j = 0$ we have from (1.1.3)

$$(3) \quad \widehat{\nabla}_{z_{j-1}}(\lambda\langle z_{j-1} \rangle) \simeq \widehat{\nabla}_{z_j}(\lambda\langle z_j \rangle).$$

Let $j \notin I_r(\mu, \lambda)$. If $d_j = 0$, then by (3)

$$(4) \quad \mathcal{C}(\widehat{\nabla}_{z_j}(\lambda\langle z_j \rangle), \widehat{\nabla}(\mu)) \simeq \mathcal{C}(\widehat{\nabla}_{z_{j-1}}(\lambda\langle z_{j-1} \rangle), \widehat{\nabla}(\mu)).$$

If $d_j \neq 0$, then $[\widehat{\nabla}_{z_j}((\lambda - d_j\beta_j)\langle z_j \rangle) : \widehat{L}(\mu)] = 0$; otherwise $[\widehat{\nabla}(\lambda - d_j\beta_j) : \widehat{L}(\mu)] \neq 0$, and hence $\mu \uparrow_r \lambda - d_j\beta_j \xleftarrow{\beta_j} \lambda$ by (1.2), contrary to the choice of j . If $\mu \uparrow_r \eta$ with $[\widehat{\nabla}_{z_{j-1}}((\lambda - d_j\beta_j)\langle z_{j-1} \rangle) : \widehat{L}(\eta)] \neq 0$, then $\mu \uparrow_r \eta \uparrow_r \lambda - d_j\beta_j \xleftarrow{\beta_j} \lambda$, contrary to the choice of j again. It follows from (1.3) that (4) remains to hold.

Put $m = \min I_r(\mu, \lambda)$ and $\lambda(m) = \lambda - d_m\beta_m \xleftarrow{\beta_m} \lambda$. Applying (1.3) with $j = m$ to (1) yields

$$(5) \quad \mathcal{C}(\widehat{\nabla}_{z_{m-1}}(\lambda(m)\langle z_{m-1} \rangle), \widehat{\nabla}(\mu)) \leq \mathcal{C}(\widehat{\nabla}_{z_{m-1}}(\lambda\langle z_{m-1} \rangle), \widehat{\nabla}(\mu));$$

if $[\widehat{\nabla}_{z_{m-1}}((\lambda - p\beta_m)\langle z_{m-1} \rangle) : \widehat{L}(\mu)] \neq 0$, then by (1.2) again $\mu \uparrow_r \lambda - p\beta_m \xleftarrow{\beta_m} \lambda - d_m\beta_m \xleftarrow{\beta_m} \lambda$, contradicting the smallness of $[\mu, \lambda]_r$. Thus, together with (4), one obtains

$$(6) \quad \begin{aligned} \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) &\simeq \mathcal{C}(\widehat{\nabla}_{z_1}(\lambda\langle z_1 \rangle), \widehat{\nabla}(\mu)) \simeq \mathcal{C}(\widehat{\nabla}_{z_2}(\lambda\langle z_2 \rangle), \widehat{\nabla}(\mu)) \simeq \dots \\ &\simeq \mathcal{C}(\widehat{\nabla}_{z_{m-1}}(\lambda\langle z_{m-1} \rangle), \widehat{\nabla}(\mu)) \geq \mathcal{C}(\widehat{\nabla}_{z_{m-1}}(\lambda(m)\langle z_{m-1} \rangle), \widehat{\nabla}(\mu)). \end{aligned}$$

Finally, if $\lambda(m) = \mu$, recall from the proof of [AK, 2.2.i] that $\mathcal{C}(\widehat{\nabla}_w(\mu\langle w \rangle), \widehat{\nabla}(\mu)) \simeq \mathbb{k} \forall w \in W$. If $\lambda(m) \neq \mu$, $0 \leq m - 1 < m < \min I_r(\mu, \lambda(m))$ by (2.2), and hence the assertion will follow by induction on the size of $[\mu, \lambda]_r$.

(2.4) **Corollary:** *Let $[\mu, \lambda]_r$ be a small interval with $\mu < \lambda$. Let $m = \min I_r(\mu, \lambda)$ and put $\nu = s_{\beta_m, np} \bullet \lambda \in [\mu, \lambda]_r$ with $\langle \lambda + \rho, \beta_m^\vee \rangle - np \in]0, p[$. Then there is $f \in \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\nu))$ such that $\mathcal{C}(f, \widehat{\nabla}(\mu)) : \mathcal{C}(\widehat{\nabla}(\nu), \widehat{\nabla}(\mu)) \rightarrow \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu))$ is injective.*

Proof: In the notation of (2.3) we have $\nu = \lambda(m)$. We may also assume that $\mu < \lambda(m)$. If $f_1 : \widehat{\nabla}_{z_{m-1}}(\lambda\langle z_{m-1} \rangle) \rightarrow \widehat{\nabla}_{z_{m-1}}(\lambda(m)\langle z_{m-1} \rangle)$ from (2.3.1), we have

$$\mathcal{C}(\widehat{\nabla}_{z_{m-1}}(\lambda(m)\langle z_{m-1} \rangle), \widehat{\nabla}(\mu)) \xrightarrow{\mathcal{C}(f_1, \widehat{\nabla}(\mu))} \mathcal{C}(\widehat{\nabla}_{z_{m-1}}(\lambda\langle z_{m-1} \rangle), \widehat{\nabla}(\mu)).$$

As in (2.3.6) the composite $f_2 : \widehat{\nabla}_{z_{m-1}}(\lambda\langle z_{m-1} \rangle) \rightarrow \dots \rightarrow \widehat{\nabla}_{z_1}(\lambda\langle z_1 \rangle) \rightarrow \widehat{\nabla}(\lambda)$ induces a bijection

$$\mathcal{C}(f_2, \widehat{\nabla}(\mu)) : \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) \rightarrow \mathcal{C}(\widehat{\nabla}_{z_{m-1}}(\lambda\langle z_{m-1} \rangle), \widehat{\nabla}(\mu)).$$

As $0 \leq m - 1 < m < \min I_r(\mu, \lambda(m)) = \min I_r(\mu, \nu)$ by (2.2), the composite $f_3 : \widehat{\nabla}_{z_{m-1}}(\nu\langle z_{m-1} \rangle) \rightarrow \dots \rightarrow \widehat{\nabla}_{z_1}(\nu\langle z_1 \rangle) \rightarrow \widehat{\nabla}(\nu)$ induces likewise a bijection $\mathcal{C}(f_3, \widehat{\nabla}(\mu)) : \mathcal{C}(\widehat{\nabla}(\nu), \widehat{\nabla}(\mu)) \rightarrow \mathcal{C}(\widehat{\nabla}_{z_{m-1}}(\nu\langle z_{m-1} \rangle), \widehat{\nabla}(\mu))$. Thus $\forall h \in \mathcal{C}(\widehat{\nabla}(\nu), \widehat{\nabla}(\mu)), \exists ! h' \in \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) : h \circ f_3 \circ f_1 = h' \circ f_2$.

On the other hand, as $m = \min I_r(\nu, \lambda)$, f_2 induces as in (2.3.6) again a bijection $\mathcal{C}(f_2, \widehat{\nabla}(\nu)) : \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\nu)) \rightarrow \mathcal{C}(\widehat{\nabla}_{z_{m-1}}(\lambda\langle z_{m-1} \rangle), \widehat{\nabla}(\nu))$. Thus $\exists ! f \in$

$\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\nu)) : f_3 \circ f_1 = f \circ f_2$. Then $h' \circ f_2 = h \circ f_3 \circ f_1 = h \circ f \circ f_2$, and hence $h' = h \circ f$ by the injectivity of $\mathcal{C}(f_2, \widehat{\nabla}(\nu))$. It follows that $\mathcal{C}(f, \widehat{\nabla}(\mu)) = \mathcal{C}(f_2, \widehat{\nabla}(\mu))^{-1} \circ \mathcal{C}(f_3 \circ f_1, \widehat{\nabla}(\mu)) = \mathcal{C}(f_2, \widehat{\nabla}(\mu))^{-1} \circ \mathcal{C}(f_1, \widehat{\nabla}(\mu)) \circ \mathcal{C}(f_3, \widehat{\nabla}(\mu)) : \mathcal{C}(\widehat{\nabla}(\nu), \widehat{\nabla}(\mu)) \rightarrow \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu))$ is an injection.

(2.5) **Corollary:** *If $[\mu, \lambda]_r = \{\mu, \lambda\}$ is small, then $[\widehat{\nabla}(\lambda) : \widehat{L}(\mu)] = 1$ and $\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) \simeq \mathbb{k}$.*

Proof: If $\widehat{Q}(\mu)$ is the injective hull of $\widehat{L}(\mu)$, $\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) \leq \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{Q}(\mu))$ and $\dim \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{Q}(\mu)) = [\widehat{\nabla}(\lambda) : \widehat{L}(\mu)]$. It is therefore enough to show that $[\widehat{\nabla}(\lambda) : \widehat{L}(\mu)] \leq 1$. One has from (1.1.5 and 2)

$$[\widehat{\nabla}(\lambda) : \widehat{L}(\mu)] \leq \sum_{d_i > 0} [\widehat{\nabla}(\lambda - d_i \beta_i) : \widehat{L}(\mu)],$$

and hence the assertion follows by the minimality of $[\mu, \lambda]_r$.

(2.6) **Remark:** Once we knew $[\widehat{\nabla}(\lambda) : \widehat{L}(\mu)] \neq 0$, we could also argue for the nonvanishing of $\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu))$ as follows. Let $f \in \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{Q}(\mu)) \setminus 0$. The short exact sequence $0 \rightarrow \widehat{L}(\mu) \rightarrow \text{im} f \rightarrow Q \rightarrow 0$ induces a long exact sequence $\mathcal{C}(\text{im} f, \widehat{\nabla}(\mu)) \rightarrow \mathcal{C}(\widehat{L}(\mu), \widehat{\nabla}(\mu)) \rightarrow \text{Ext}_{\mathcal{C}}^1(Q, \widehat{\nabla}(\mu))$. If $\mathcal{C}(\text{im} f, \widehat{\nabla}(\mu)) \neq 0$, we will be done. Otherwise, $\text{Ext}_{\mathcal{C}}^1(Q, \widehat{\nabla}(\mu)) \neq 0$. Then there would be a composition factor $\widehat{L}(\nu)$ of Q , hence $\nu \uparrow_r \lambda$ by (1.2) and $\nu < \lambda$ such that $\text{Ext}_{\mathcal{C}}^1(\widehat{L}(\nu), \widehat{\nabla}(\mu)) \neq 0$. Then $\nu > \mu$ by [J, II.9.8], and hence $\text{Ext}_{\mathcal{C}}^1(\widehat{L}(\nu), \widehat{\nabla}(\mu)) \simeq \mathcal{C}(\text{rad} \widehat{\nabla}_{w_0}(\nu \langle w_0 \rangle), \widehat{\nabla}(\mu))$. It would follow that $[\text{rad} \widehat{\nabla}_{w_0}(\nu \langle w_0 \rangle) : \widehat{L}(\mu)] \neq 0$, and hence $\mu \uparrow_r \nu$, contradicting the minimality of $[\mu, \lambda]_r$.

3°. Around special points

(3.1) Assume G is semisimple and simply connected, so $\rho \in \Lambda$. We say $\lambda \in \Lambda$ is *special* iff $\lambda \in -\rho + p\Lambda$. As tensoring with $p\eta$, $\eta \in \Lambda$, is an automorphism of our category \mathcal{C} , we will consider points around the special point $-\rho$. Let F be a facet for W_p containing $-\rho$ in its closure. If $\nu \in F \cap \Lambda$, the W -orbit $W \bullet \nu$ forms a small interval [Kop, 3.2].

Theorem: Let F be a facet containing $-\rho$ in its closure, let $\nu \in F \cap \Lambda$, and put $J = W \bullet \nu$. Let $\lambda, \mu, \eta \in J$.

- (i) $\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) \neq 0$ iff $\mu \uparrow_r \lambda$, in which case $\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) \simeq \mathbb{k}$.
- (ii) If $f \in \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) \setminus 0$ and if $h \in \mathcal{C}(\widehat{\nabla}(\mu), \widehat{\nabla}(\eta)) \setminus 0$, then $h \circ f \neq 0$.

Proof: Write $J = [\lambda^-, \lambda^+]_r$. $\forall \lambda \in J$, using the translation functors we have

$$\mathcal{C}(T_{-\rho}^\nu \widehat{\nabla}(-\rho), \widehat{\nabla}(\lambda)) \simeq \mathcal{C}(\widehat{\nabla}(-\rho), T_{\nu}^{-\rho} \widehat{\nabla}(\lambda)) \simeq \mathcal{C}(\widehat{\nabla}(-\rho), \widehat{\nabla}(-\rho)) \simeq \mathbb{k}.$$

Recall from [J, II.9.8] that there is an epi $T_{-\rho}^\nu \widehat{\nabla}(-\rho) \rightarrow \widehat{\nabla}(\lambda^+)$. Then $\mathbb{k} \simeq \mathcal{C}(T_{-\rho}^\nu \widehat{\nabla}(-\rho), \widehat{\nabla}(\lambda)) \geq \mathcal{C}(\widehat{\nabla}(\lambda^+), \widehat{\nabla}(\lambda)) \neq 0$ by (2.3), and hence

$$(1) \quad \mathcal{C}(\widehat{\nabla}(\lambda^+), \widehat{\nabla}(\lambda)) \simeq \mathbb{k}.$$

Consider a linkage $\mu \xrightarrow{\alpha} \mu'$, $\alpha \in R^s$, in J . Take a reduced expression $w_0 = s_1 \dots s_N$ such that $\alpha = \alpha_1 = \beta_1$ in the notation of (2.2). Then $\forall \lambda \in [\lambda^-, \mu']_r$, $\min I_r(\lambda, \mu) = 1$. Let $f \in \mathcal{C}(\widehat{\nabla}(\mu), \widehat{\nabla}(\mu')) \setminus 0$. As $\alpha \in R^s$, $\mathcal{C}(\widehat{\nabla}(\mu), \widehat{\nabla}(\mu')) \simeq \mathbb{k}$ by (2.5), and one has an injection by (2.4)

$$(2) \quad \mathcal{C}(f, \widehat{\nabla}(\lambda)) : \mathcal{C}(\widehat{\nabla}(\mu'), \widehat{\nabla}(\lambda)) \hookrightarrow \mathcal{C}(\widehat{\nabla}(\mu), \widehat{\nabla}(\lambda)).$$

Let $\lambda \in J$ be arbitrary again. As $\lambda \in W \bullet \lambda^+$, there is a chain of strong linkage $\lambda^+ = \lambda_0 \xrightarrow{\gamma_1} \lambda_1 \xrightarrow{\gamma_2} \dots \xrightarrow{\gamma_n} \lambda_n = \lambda$ with all $\gamma_i \in R^s$. Let $\phi_i \in \mathcal{C}(\widehat{\nabla}(\lambda_{i-1}), \widehat{\nabla}(\lambda_i)) \setminus 0$ and put $\phi = \phi_n \circ \dots \circ \phi_2 \circ \phi_1 : \widehat{\nabla}(\lambda^+) \rightarrow \widehat{\nabla}(\lambda)$. By (2) $\forall \mu \in [\lambda^-, \lambda]_r$,

$$(3) \quad \begin{aligned} \mathcal{C}(\phi, \widehat{\nabla}(\mu)) &= \mathcal{C}(\phi_1, \widehat{\nabla}(\mu)) \circ \mathcal{C}(\phi_2, \widehat{\nabla}(\mu)) \cdots \circ \mathcal{C}(\phi_n, \widehat{\nabla}(\mu)) : \\ &\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) \hookrightarrow \mathcal{C}(\widehat{\nabla}(\lambda^+), \widehat{\nabla}(\mu)). \end{aligned}$$

It follows from (1) and (2.3) that $\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\mu)) \simeq \mathbb{k}$, and (i) holds.

By the translation principle $\forall \lambda \in J$,

$$(4) \quad [\widehat{\nabla}(\lambda) : \widehat{L}(\lambda^-)] = 1.$$

Taking $\mu = \lambda^-$ in (3), we obtain a commutative diagram

$$\begin{array}{ccc} \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\lambda^-)) & \xrightarrow{\mathcal{C}(\phi, \widehat{\nabla}(\lambda^-))} & \mathcal{C}(\widehat{\nabla}(\lambda^+), \widehat{\nabla}(\lambda^-)) \\ & \searrow & \nearrow \\ & \mathcal{C}(\text{im}\phi, \widehat{\nabla}(\lambda^-)) & \end{array}$$

As $\mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\lambda^-)) \neq 0$ by (i), $[\text{im}\phi : \widehat{L}(\lambda^-)] \neq 0$, and hence

$$(5) \quad [\text{coker}\phi : \widehat{L}(\lambda^-)] = 0.$$

Let $\xi \xrightarrow{\beta} \xi'$ be a linkage in J , $\beta \in R^+$, and $f' \in \mathcal{C}(\widehat{\nabla}(\xi), \widehat{\nabla}(\xi')) \setminus 0$. Take chains of linkages $\lambda^+ \xrightarrow{\gamma_1} \xi_1 \dots \xrightarrow{\gamma_n} \xi$ and $\lambda^+ \xrightarrow{\gamma'_1} \xi'_1 \dots \xrightarrow{\gamma'_n} \xi'$ with all $\gamma_i, \gamma'_j \in R^s$, and let $\psi \in \mathcal{C}(\widehat{\nabla}(\lambda^+), \widehat{\nabla}(\xi))$, $\psi' \in \mathcal{C}(\widehat{\nabla}(\lambda^+), \widehat{\nabla}(\xi'))$ be the corresponding composites. By (3), $\mathcal{C}(\psi, \widehat{\nabla}(\xi)) : \mathcal{C}(\widehat{\nabla}(\xi), \widehat{\nabla}(\xi')) \rightarrow \mathcal{C}(\widehat{\nabla}(\lambda^+), \widehat{\nabla}(\xi'))$ is monic, and hence $f' \circ \psi \neq 0$. Then $f' \circ \psi \in \mathbb{k}^\times \psi'$. By (5) one has $[\text{im}\psi : \widehat{L}(\lambda^-)] = 1 = [\text{im}\psi' : \widehat{L}(\lambda^-)] = [\text{im}(f' \circ \psi) : \widehat{L}(\lambda^-)]$. It follows from (4) that

$$(6) \quad [\text{im}f' : \widehat{L}(\lambda^-)] = 1 \quad \text{and} \quad [\text{coker}f' : \widehat{L}(\lambda^-)] = 0.$$

If $\xi' \xrightarrow{\beta'} \xi''$ is another linkage in J and if $f'' \in \mathcal{C}(\widehat{\nabla}(\xi'), \widehat{\nabla}(\xi'')) \neq 0$, $[\text{im}(f'' \circ f') : \widehat{L}(\lambda^-)] = 1$ by (6) as $[\text{im}(f'') : \widehat{L}(\lambda^-)] = 1$. Repeat to get $\forall \lambda' \uparrow_r \lambda$ in J and $\forall f \in \mathcal{C}(\widehat{\nabla}(\lambda), \widehat{\nabla}(\lambda')) \neq 0$, $[\text{im}f : \widehat{L}(\lambda^-)] = 1$ by (i), and (ii) follows.

(3.2) Write $w_0 = s_1 s_2 \dots s_N$ and put $w_i = s_{i+1} s_{i+2} \dots s_N \forall i \in [0, N]$ with $w_N = e$ as in (2.2).

Corollary: Assume $p \geq h$.

- (i) $\forall i \in [1, N], \mathcal{C}(\widehat{\nabla}(w_i \bullet 0), \widehat{\nabla}(w_{i-1} \bullet 0)) \simeq \mathbb{k}$.
- (ii) If $f_i \in \mathcal{C}(\widehat{\nabla}(w_i \bullet 0), \widehat{\nabla}(w_{i-1} \bullet 0)) \setminus 0, f_1 \circ f_2 \circ \dots \circ f_N \neq 0$.

(3.3) **Remark:** (i) could have been obtained without appealing to the theorem, using the translation principle or (1.1.1) to see $\mathcal{C}(\widehat{\nabla}(w_i \bullet 0), \widehat{\nabla}(w_{i-1} \bullet 0)) \neq 0$ and (2.6). Also, (ii) could have been obtained as in the proof of [AK, 6.2] as pointed out by Henning Andersen: by the translation principle again $[\widehat{\nabla}(w_i \bullet 0) : \widehat{L}(w_0 \bullet 0)] = 1 \forall i$. As $w_{i-1} \bullet 0 = s_i w_i \bullet 0 = w_i \bullet 0 - d_i \alpha_i$ with $d_i = \langle w_i \bullet 0 + \rho, \alpha_i^\vee \rangle = \langle \rho, w_i^{-1} \alpha_i^\vee \rangle \in]0, p[$, one has from (1.1.1) an exact sequence of G_1T -modules

$$\widehat{\nabla}(w_{i-1} \bullet 0 + p\alpha_i) \rightarrow \widehat{\nabla}(w_i \bullet 0) \rightarrow \widehat{\nabla}(w_{i-1} \bullet 0).$$

As the closure of the alcove containing $w_{i-1} \bullet 0 + p\alpha_i$ does not contain $-\rho, [\widehat{\nabla}(w_{i-1} \bullet 0 + p\alpha_i) : \widehat{L}(w_0 \bullet 0)] = 0$ by the translation principle again. It follows that $[\text{im} f_i : \widehat{L}(w_0 \bullet 0)] \neq 0$ and hence that $T_0^{-\rho} f_i : \widehat{\nabla}(-\rho) \rightarrow \widehat{\nabla}(-\rho)$ is invertible as $\widehat{\nabla}(-\rho)$ is irreducible. Then $T_0^{-\rho}(f_1 \circ f_2 \circ \dots \circ f_N)$ remains invertible as $T_0^{-\rho}(f_1 \circ f_2 \circ \dots \circ f_N) = (T_0^{-\rho} f_1) \circ \dots \circ (T_0^{-\rho} f_N)$ by the functoriality.

(3.4) Assume in this section $p > h$ and assume the Lusztig conjecture on the irreducible characters for G [L]. Then we know from [AK] that the Loewy length of any $\widehat{\nabla}(y \bullet 0), y \in W_p$, is equal to $\ell(w_0) + 1$, and that if $\text{soc}_j \widehat{\nabla}(y \bullet 0)$ denotes the j -th G_1T -socle layer of $\widehat{\nabla}(y \bullet 0)$, then the multiplicity of $\widehat{L}(x \bullet 0), x \in W_p$, in $\text{soc}_j \widehat{\nabla}(y \bullet 0)$ is given by a periodic inverse Kazhdan-Lusztig polynomial

$$Q_{w_0 y \bullet A^+, w_0 x \bullet A^+} = \sum_j q^{\frac{d(x \bullet A^+, y \bullet A^+) + 1 - j}{2}} [\text{soc}_j \widehat{\nabla}(y \bullet 0) : \widehat{L}(x \bullet 0)],$$

where A^+ is the bottom dominant alcove and $d(x \bullet A^+, y \bullet A^+)$ is the distance from alcove $x \bullet A^+$ to alcove $y \bullet A^+$ [L80].

Corollary: Assume the Lusztig conjecture on the irreducible characters for G . Then each $\widehat{L}(w \bullet 0), w \in W$, appears in $\text{soc}_{\ell(w)+1} \widehat{\nabla}(0)$.

Proof: For a G_1T -module M let $\ell(M)$ denote the Loewy length of M . We employ the notations from (3.3).

As each f_i annihilates $\text{soc} \widehat{\nabla}_B(w_i \bullet 0) = \widehat{L}(w_i \bullet 0), \ell(\text{im}(f_{i-1} \circ f_i \circ \dots \circ f_N)) < \ell(\text{im}(f_i \circ f_{i+1} \circ \dots \circ f_N))$. It follows, as $\ell(\widehat{\nabla}(w_i \bullet 0)) = N + 1 \forall i$ by [AK] and as $f_1 \circ f_2 \circ \dots \circ f_N \neq 0$, that $\ell(\text{im}(f_i \circ f_{i+1} \circ \dots \circ f_N)) = i$. Then $0 < \text{rad}^i(\text{im}(f_{i+1} \circ f_{i+2} \circ \dots \circ f_N)) \leq \text{soc}(\text{im}(f_{i+1} \circ f_{i+2} \circ \dots \circ f_N)) \leq \text{soc} \widehat{\nabla}(w_i \bullet 0) = \widehat{L}(w_i \bullet 0)$, and hence $\widehat{L}(w_i \bullet 0) = \text{rad}^i(\text{im}(f_{i+1} \circ f_{i+2} \circ \dots \circ f_N)) = f_{i+1} \circ f_{i+2} \circ \dots \circ f_N(\text{rad}^i \widehat{\nabla}(0))$ with $f_{i+1} \circ \dots \circ f_N(\text{rad}^{i+1} \widehat{\nabla}(0)) = \text{rad}^{i+1}(\text{im}(f_{i+1} \circ \dots \circ f_N(\widehat{\nabla}(0)))) = 0$. Thus $0 \neq [\text{rad}^i \widehat{\nabla}(0) / \text{rad}^{i+1} \widehat{\nabla}(0) : \widehat{L}(w_i \bullet 0)] = [\text{soc}_{N+1-i} \widehat{\nabla}(0) : \widehat{L}(w_i \bullet 0)]$ by the rigidity of $\widehat{\nabla}(0)$ [AK].

As each $w \in W$ appears as some w_i in a reduced expression of w_0 , the assertion follows.

(3.5) Assume $p > h$. For each $w \in W$ write $w \bullet 0 = (w \bullet 0)^0 + p(w \bullet 0)^1$ with $(w \bullet 0)^0, (w \bullet 0)^1 \in \Lambda$ such that $\langle (w \bullet 0)^0, \alpha^\vee \rangle \in [0, p[\forall \alpha \in R^s$. Let $L(w)$ be the simple G -module of highest weight $(w \bullet 0)^0$. Then each i -th socle layer, $i \in \mathbb{N}$, of $\widehat{\nabla}(0)$ is given by

$$\mathrm{soc}_i \widehat{\nabla}(0) = \coprod_{w \in W} L(w) \otimes G_1 \mathbf{Mod}(L(w), \mathrm{soc}_i \widehat{\nabla}(0)).$$

We thus have, assuming the Lusztig conjecture [L], that $G_1 \mathbf{Mod}(L(w), \mathrm{soc}_{\ell(w)+1} \widehat{\nabla}(0)) \neq 0 \forall w \in W$.

More generally, let P be a standard parabolic subgroup of G , $\widehat{\nabla}_P(0) = \mathrm{ind}_{P_1 T}^{G_1 T}(0)$ with 0 denoting the zero weight again not the zero module, W_P the Weyl group of P , and let $W^P = \{w \in W | \ell(wx) = \ell(w) + \ell(x) \forall x \in W_P\}$. We have found for G of rank at most 2 in [KY] and in case $G = \mathrm{GL}_{n+1}$ with P such that G/P is the projective n -space [K] that

$$\mathrm{soc}_i \widehat{\nabla}_P(0) = \coprod_{w \in W^P} L(w) \otimes G_1 \mathbf{Mod}(L(w), \mathrm{soc}_i \widehat{\nabla}_P(0)) \quad \forall i \in \mathbb{N}$$

and that $G_1 \mathbf{Mod}(L(w), \mathrm{soc}_{\ell(w)+1} \widehat{\nabla}_P(0)) \neq 0 \forall w \in W^P$. This nonvanishing is a key ingredient in our attempt to construct a Karoubian complete strongly exceptional sequence of coherent sheaves on G/P .

(3.6) Lusztig's conjecture holds for large p thanks to [KT, KL, L94, AJS, F].

Corollary: $\forall w \in W, Q_{w_0 \bullet A^+, w \bullet A^+}$ has positive constant term.

Acknowledgement: The present work grew out of Koppinen's paper [Kop] Henning Andersen handed to the author during his visit at Matematisk Institut, Aarhus Universitet, in the spring of 2010. The author is grateful to Andersen for inspiration and Matematisk Institut for the hospitality and the financial support of the visit. Thanks are also due to Jim Humphreys for helpful comments.

References

- [AJS] Andersen, H.H., Jantzen, J.C. and Soergel, W., Representations of quantum groups at a p -th root of unity and of semisimple groups in characteristic p : independence of p , *Astérisque* **220**, 1994 (SMF) MR1272539 (95j:20036)
- [AK] Andersen, H.H. and Kaneda M., *Loewy series of modules for the first Frobenius kernel in a reductive algebraic group*, Proc. LMS (3) **59** (1989), 74–98 MR997252 (90h:20062)
- [D] Doty, S. R., *Character formulas and Frobenius subgroups of algebraic groups*, J. Alg. **125** (1989), 331–347 MR1018950 (90i:20041)
- [D89] Doty, S. R., *The strong linkage principle*, Am. J. Math. **111** (1989), 135–141 MR980303 (90d:20081)
- [F] Fiebig, P., *Sheaves on affine Schubert varieties, modular representations and Lusztig's conjecture*, J. AMS **24** (2011), 133–181 MR2726602 (2012a:20072)
- [J] Jantzen, J. C., *Representations of Algebraic Groups*, 2003 (AMS) MR2015057 (2004h:20061)
- [K] Kaneda M., *The structure of Humphreys-Verma modules for projective spaces*, J. Alg. **322** (2009), Pages 237-244 MR2526386 (2011b:20131)

- [KY] Kaneda M. and Ye J.-C., *Some observations on Karoubian complete strongly exceptional posets on the projective homogeneous varieties*, arXiv:0911.2568v2 [math.RT]
- [Kop] Koppinen, M., *Homomorphisms between neighbouring Weyl Modules*, J. Alg **103** (1986), 302–319 MR860709 (87m:20116)
- [L] Lusztig, G., *Some problems in the representation theory of finite Chevalley groups*, Proc. Symp. Pure Math. **37**, AMS 1980, pp. 313–317. MR604598 (82i:20014)
- [L80] Lusztig, G., *Hecke algebras and Jantzen's generic decomposition patterns*, Adv. Math. **37** (1980), 121–164 MR591724 (82b:20059)
- [KT] Kashiwara M. and Tanisaki T., *Kazhdan-Lusztig conjecture for symmetrizable Kac-Moody Lie algebras with negative level II. Nonintegral case*, Duke Math. J. **84** (1996), 771–813 MR1408544 (97g:17024)
- [KL] Kazhdan, D. and Lusztig, G., *Tensor structures arising from affine Lie algebras I, II*, J. AMS **6** (1993), 905–1011; *III, IV*, J. AMS **7** (1994), 335–453 MR1186962 (93m:17014)
- [L94] Lusztig, G., *Monodromic systems on affine flag manifolds*, Proc. R. S. London A **445**(1994), 231–246; Errata, **450**(1995), 731–732 MR1276910 (95m:20049)

DEPARTMENT OF MATHEMATICS, 558-8585 OSAKA CITY UNIVERSITY, JAPAN

E-mail address: kaneda@sci.osaka-cu.ac.jp